
 

JP COLLEGE OF COMPETITIONS  
(Building careers since 1997) 

Specialists in: All Major Competitive Exams 

 

Website: www.jpcolleges.in, E-mail: jpcconline@gmail.com Ph: 011-45609467, Mob 09810669467 

 

PART – I GENERAL INTELLIGENCE & 

REASONING 

 

Directions (1-3): In these questions, select 

the related word/letters/numbers from 

the given alternatives.  

निरे्दश (1-3) : नर्दए गए निकल्पों में से सोंबोंनित 

शब्द/अक्षरप ों/सोंख्या कप चुनिए।  

 

1. Head : Human Body : : ?  

(1) Arc: Circle  (2) Cube : Circle 

(3) Square: Circle  (4) Triangle: Circle  

नसर : मािि शरीर : : ?  

(1) िृत्ाोंश : िृत्   (2)  घि : िृत्   

(3) िगग : िृत्   (4) निभुज : िृत्  

 

2. PZQW : NXOU : : FISK : ?  

(1) EFPJ   (2) FERI  

(3) DGQI   (4) HKVM  

 

3. 7 : 19 : : 10 : ?  

(1) 25   (2) 30  

(3) 21   (4) 23  

 

Directions (4 - 6): Find the odd word/ 

letters/number pair from the given 

alternatives.  

निरे्दश (4 - 6 ) : इस प्रश्न में नर्दए निकल्पों में से 

निषम शब्द/अक्षर/सोंख्या युग्म चुनिए।  

4.  (1) Bigger    (2) Faster  

     (3) Greater   (4) Taller 

 

5. (1) AEIM  (2) BFJN 

    (3) CGKO  (4) FDKN  

 

6.  (1) 140 → 45  (2) 𝟏𝟏𝟎 → 𝟑𝟓   

     (3) 𝟏𝟎𝟎 → 𝟑𝟎       (4) 𝟖𝟎 → 𝟐𝟓    

 

7. Arrange the following words as per 

order in the dictionary:  

निम्ननिखित शब्दपों कप शब्दकपश में नर्दए गए क्रम 

के अिुसार निखिए?  

1. Forest   2. Fascinating  

3. Fantastic  4. Fabulous  

(1) 2, 4, 3, 1  (2) 4, 2, 3, 1  

(3) 4, 3, 2, 1  (4) 2, 3, 4, 1 

 

8. Which one set of letters when 

sequentially placed at the gaps in the 

given letter series shall complete it?  

अक्षरप ों का कौि-सा समूह िािी स्थािप ों पर 

क्रमिार रििे से र्दी गई अक्षर शृ्ोंििा कप पूरा 

करता है?  

a_ca_c_dc_d_ad_  

(1) ddacdc  (2) daadca 

(3) dadaac  (4) ddaacc  

 

 

 

 

 

9. Which number comes next in the 

series?  

शृ्ोंििा में अगिा िोंबर क्या आएगा ?  

1, 5, 2, 6, 3, 7, ?  

(1) 6   (2) 5  

(3) 4   (4) 3  

 

10. P and Q are sisters. R and S are 

brothers. P's daughter is  

R's sister. What is Q's relation to S?  

(1) Mother  (2) Grandmother  

(3) Sister   (4) Aunt  

P और Q बहिें हैं। R और S भाई हैं। P की िड़की 

R की बहि है, तप निर Q का S से क्या सोंबोंि है?  

(1) माता   (2) र्दार्दी  

(3) बहि   (4) चाची/बुआ/मौसी  

 

11. A man was 32 years of age when he 

had his first son. His wife was 35 years of 

age when his son attained the age of 7 

years. The difference between the age of 

the father and the mother is .....................  

(1) 7 years  (2) 3 years  

(3) 5 years  (4) 4 years  

एक आर्दमी की आयु 32 िषग थी जब उसके पहिे 

बेटे का जन्म हुआ। जब उसका बेटा 7 िषग का था, 

उसकी पत्नी की आयु 35 िषग थी, तप माता और 

नपता की आयु में अोंतर बताइए?  

(1) 7 िषग   (2) 3 िषग  

(3) 5 िषग   (4) 4 िषग  

 

12. From the given alternative words, 

select the word which cannot be formed 

using the letters of the given word 

निम्ननिखित निकल्पों में से िह शब्द चुनिए जप नर्दए 

गए शब्द के अक्षरप ों के प्रयपग से िही ों बिाया जा 

सकता-  

ANNOUNCEMENTS  

(1) CEMENT  (2) NOUN  

(3) COUNTER  (4) TENSE  

 

13. If RATION is written as OXQFLK then 

LUMBER may be written as ……..................  

अगर RATION कप OXQFLK नििा जा सकता है 

तप उस कपड में LUMBER कप क्या नििेंगे?  

(1) KTLADQ  (2) ITJABQ  

(3) OXPEHU  (4) IRJYBO  

 

14. A ∗ B means multiply A by B ; A @ B 

means divide A by B, A? B means add B to 

A and A = B means subtract B from A. 

Then find the value of 10*10=5* 10? 50 @ 

10  

A * B का अथग गुणा, @ का अथग भाग, ? का अथग 

यपग, A = B का अथग A – B है, तप 10*10=5* 10? 

50 @ 10 का माि ज्ञात करें ?  

(1) 100   (2) 45  

(3) 1000   (4) 55  

 

 

 

15. If 37 ∗ 14 = 17, 69 ∗ 33 = 34, 91 ∗   

125 = 72 then what should 28 * 56 =?  

यनर्द 37 ∗ 14 = 17, 69 ∗ 33 = 34, 91 ∗  125 = 

72 हप, तप 28 * 56 =? 

(1) 26   (2) 42  

(3) 34   (4) 28  

 

16. Select the missing numbers from the 

given responses. 

िुप्त सोंख्या ज्ञात कीनजए  

21 56 70 

45 87 84 

115 180 ? 

(1) 110   (2) 120  

(3) 130   (4) 140  

 

17. P started walking from North to South. 

She turned right at right angle and then 

again right at right angle. In which 

direction was she ultimately walking?  

P िे उत्र नर्दशा से र्दनक्षण की और यािा शुरू की 

िह समकपण पर र्दानहिे घूमी और निर र्दपबारा 

समकपण पर र्दानहिे घूमी अोंत में िह कौि-सी नर्दशा 

में चि रही थी?  

(1) North  (2) East    

(3) South  (4) West  

 

18. Consider the given statements to be 

true and decide which of the given 

conclusions/assumptions can definitely be 

drawn from the given statements.  

Statements:  

All states having dams face no water 

problem.  

One of the states has no dam.  

Conclusions:  

I. It may be facing water problem.  

II. Dams solve water problem.  

(1) Only conclusion I follows  

(2) Only conclusion II follows  

(3) Both conclusion I and conclusion II 

follow  

(4) Neither conclusion I nor conclusion II 

follows    

इस प्रश्न में एक या र्दप िक्तव्य नर्दए गए हैं, नजसके 

आगे र्दप निष्कषग/ मान्यताएँ, । और || निकािे गए 

हैं। आपकप निचार करिा है नक िक्तव्य सत्य है चाहे 

िह सामान्यतः  शतग तथ्पों से नभन्न प्रतीत हपता हप। 

आपकप निणगय करिा है नक नर्दए गए िक्तव्य में से 

कौि-सा निनित रूप से सही निष्कषग/मान्यता 

निकािा जा सकता है?  

कथि :   

नजि राज्पों में बाँि है, उन्हें पािी की समस्या का 

सामिा िही ों करिा पड़ता।  

एक राज् के पास बाँि िही ों है।  

निष्कषग :  

I. इसे पािी की समस्या का सामिा करिा पड़ 

सकता है।  

II. बाँि पािी की समस्या का समािाि करते हैं।  

 

http://www.jpcolleges.in/


 

JP COLLEGE OF COMPETITIONS  
(Building careers since 1997) 

Specialists in: All Major Competitive Exams 

 

Website: www.jpcolleges.in, E-mail: jpcconline@gmail.com Ph: 011-45609467, Mob 09810669467 

 

(1) केिि निष्कषग । सही है  

(2) केिि निष्कषग I सही है  

(3) । और II र्दपिप ों निष्कषग सही हैं  

(4) ि तप I और ि ही II निष्कषग सही है  

 

19. How many triangles are there in this 

figure?  

इस नचि में नकतिे निभुज हैं?  

 
(1) 10   (2) 12  

(3) 14   (4) 16  

 

20. Which of the answer figures illustrate 

the relationship between  

Delhi, Sri Lanka, Asia?  

कौि-सा उत्र इि शब्दपों के सही सोंबोंि कप र्दशागता 

है?  

नर्दल्ली, श्ीिोंका, एनशया  

 

 

21. Which answer figure will complete the 

pattern in the question figure?  

इस प्रश्न में कौि-सी उत्र आकृनत प्रश्न आकृनत के 

प्रनतरूप कप पूरा करती है?  

Question figure / प्रश्न आकृनत:  

 
Answer figures / उत्र आकृनतयाँ:  

 
 

22. From the given answer figures, select 

the one in which the question figure is 

hidden/embedded.  

र्दी गई उत्र आकृनतयप ों में से उसे चुनिए नजसमें प्रश्न 

आकृनत निनहत हैं?  

Question figure / प्रश्न आकृनत:  

 

Answer figures / उत्र आकृनतयाँ:  

 

23. A piece of paper is folded and cut as 

shown below in the question figures. From 

the given answer figures, indicate how it 

will appear when opened.  

Question figure / प्रश्न आकृनत:  

 

Answer figures / उत्र आकृनतयाँ:  

 

24. If a mirror is placed on the line MN, 

then which of the answer figures is the 

right image of the given figure?  

इस प्रश्न में यनर्द एक र्दपगण कप MN रेिा पर रिा 

जाए, तप र्दी गई उत्र आकृनतयप ों में से कौि-सी 

आकृनत प्रश्न आकृनत का सही प्रनतनबोंब हपगी?  

Question figure / प्रश्न आकृनत:  

 

Answer figures/उत्र आकृनतयाँ:  

 

25. In this question, a word is represented 

by only one set of numbers as given in any 

one of the alternatives. The sets of 

numbers given in the alternatives are 

represented by two classes of alphabets as 

in two matrices given below. The columns 

and rows of Matrix I are numbered from 0 

to 4 and that of Matrix II are numbered 

from 5 to 9. A letter from these matrices 

can be represented first by its row and 

next by its column, e.g., 'A' can be 

represented by 03, 55 etc., and 'P' can be 

represented by 10, 99 etc. Similarly, you 

have to identify the set for the word 

'VENU'  

निम्ननिखित प्रश्न में निकल्पों में नर्दए गए सोंख्या 

समूह अक्षरप ों के र्दप िगों द्वारा र्दशागए गए हैं, जैसे नक 

िीचे नर्दए गए र्दप आवू्यहप ों में हैं I आवू्यह – I के स्तोंभ 

और पोंखक्त की सोंख्या 0 से 4 तक र्दी गई हैं, और 

आवू्यह – II के 5 से 9 तक I इि आवू्यहप ों से एक 

अक्षर कप पहिे उसकी पोंखक्त और बार्द में स्तोंभ 

सोंख्या र्दशागया जा सकता हैं I उर्दाहरण के निए A 

कप 03, 55 आनर्द द्वारा र्दशागया जा सकता हैं तथा P 

कप 10, 99 आनर्द द्वारा र्दशागया जा सकता हैं I इसी 

तरह से आपकप नर्दए शब्द ‘VENU’ के निए समूह 

कप पहचाििा हैं?  

 

(1) 69, 87, 32, 41   (2) 85, 02, 20, 57  

(3) 11, 95, 89, 57   (4) 69, 95, 22, 04  

 

PART – II : GENERAL KNOWLEDGE 

 

26. पीएम मपर्दी िे रु्दनिया के सबसे बडे़ मेनडटेशि 

सेंटर का उर््दघाटि नकस शहर में नकया? 

(1) पटिा   (2) िाराणसी  

(3) िििऊ  (4) अहमर्दाबार्द  

In which city did PM Modi inaugurate the 

world's largest meditation center? 

(1) Patna  (2) Varanasi 

(3) Lucknow (4) Ahmedabad 

 

27. नमस इोंनडया यूएसए 2023 का निताब नकसिे 

जीता? 

(1) आयुषी कपूर  

(2) ररजुि मैिी  

(3) कीनतग कामरा 

(4) सिपिी राममपहि  

Who won the title of Miss India USA 

2023? 

(1) Ayushi Kapoor 

(2) Rijul Maini 

(3) Kirti Kamra 

(4) Saloni Rammohan 

 

28. टेस्ट नक्रकेट में 500 या उससे अनिक निकेट 

िेिें िािे रु्दनिया के 8िें गेंर्दबाज कौि बिे है? 

(1) िाथि नियपि  

(2) रिीन्द्र जडेजा  

(3) एडम ज़म्पा 

(4) रनिचोंद्रिआनिि  

Who has become the 8th bowler in the 

world to take 500 or more wickets in Test 

cricket? 

(1) Nathan Lyon 

(2) Ravindra Jadeja 

(3) Adam Zampa 

(4) Ravichandran Ashwin 

 

29. अोंतरागष्ट्र ीय प्रिासी नर्दिस प्रनतिषग कब मिाया 

जाता है? 

(1) 16 नर्दसोंबर  (2) 17 नर्दसोंबर  

(3) 18 नर्दसोंबर  (4) 19 नर्दसोंबर  

When is International Migrants Day 

celebrated every year? 

(1) 16 December (2) 17 December 

(3) 18 December (4) 19 December 
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30. इजरायिी सरकार िे नकसे भारत में िए 

राजरू्दत के रूप में नियुक्त नकया है? 

(1) रॉि मल्का (2) िपर नगिपि 

(3) रूिेि अजार (4) इिमें से कपई िही ों   

Who has been appointed by the Israeli 

government as the new Ambassador to 

India? 

(1) Ron Malka  (2) Nor Gillon 

(3) Reuven Azar  (4) None of these 

 

31. नकस भारतीय िे हाि ही में अोंटाकग नटका की 

सबसे ऊों ची चपटी 'माउोंट निोंसि' पर सिि चढ़ाई 

की? 

(1) अरुनणमा नसन्हा  

(2) िि राज नसोंह िमगशकू्त 

(3) शेि हसि िाि  

(4) अोंशू जामसेंपा 

Which Indian recently successfully 

climbed Antarctica's highest peak 'Mount 

Vinson'? 

(1) Arunima Sinha 

(2) Luv Raj Singh Dharamshaktu 

(3) Sheikh Hasan Khan 

(4) Anshu Jamsenpa 

 

32. आईपीएि टीम मुोंबई इोंनडयन्स िे नकसे 

अपिा िया कप्ताि नियुक्त नकया है? 

(1) सूयगकुमार यार्दि  

(2) जसप्रीत बुमराह 

(3) ईशाि नकशि  

(4) हानर्दगक पोंड्या 

Who has been appointed as the new 

captain by IPL team Mumbai Indians? 

(1) Suryakumar Yadav 

(2) Jasprit Bumrah 

(3) Ishan Kishan 

(4) Hardik Pandya 

 

33. पपिैंड के प्रिािमोंिी के रूप में नकसे चुिा  

गया है? 

(1) बीटा स्ज़ाइड्िप 

(2) डपिाल्ड टस्क  

(3) आोंदे्रज डुडा 

(4) इिमें से कपई िही ों 

Who has been elected as the Prime 

Minister of Poland? 

(1) Beta Szydło 

(2) Donald Tusk 

(3) Andrzej Duda 

(4) none of these 

 

34. यूिाइटेड िल्डग रेसनिोंग राइनजोंग स्टार ऑि 

र्द ईयर 2023 के रूप में नकसे िानमत नकया गया 

है? 

(1) साक्षी मनिक (2) निशा र्दनहया 

(3) गीनतका जािड़ (4) अोंनतम पोंघाि 

Who has been named as the United 

World Wrestling Rising Star of the Year 

2023? 

(1) Sakshi Malik (2) Nisha Dahiya 

(3) Geetika Jakhar (4) Last Panghal 

35. बीसीसीआई की ओर से नकस नक्रकेटर के 

निए 'अजुगि अिाडग' की नशिाररश की गयी है? 

(1) शुभमि नगि  (2) सूयगकुमार यार्दि  

(3) शे्यस अय्यर (4) मपहम्मर्द शमी  

For which cricketer has 'Arjun Award' 

been recommended by BCCI? 

(1) Shubman Gill (2) Suryakumar Yadav 

(3) Shreyas Iyer (4) Mohammed Shami 

 

36. नकसे हाि ही में भारतीय कुश्ती महासोंघ का 

अध्यक्ष चुिा गया? 

(1) बजरोंग पुनिया  

(2) अिीता श्यपराण  

(3) बृजभूषण शरण नसोंह  

(4) सोंजय नसोंह 

Who was recently elected the President 

of Indian Wrestling Federation? 

(1) Bajrang Punia 

(2) Anita Sheoran 

(3) Brij Bhushan Sharan Singh 

(4) Sanjay Singh 

 

37. साि 2023 में गूगि के टॉप 10 टर ेंनडोंग 

एथिीटप ों की निस्ट में इकिौते भारतीय नक्रकेटर 

कौि है? 

(1) निराट कपहिी  (2) रपनहत शमाग  

(3) शुभमि नगि  (4) मपहम्मर्द शमी   

Who is the only Indian cricketer in the list 

of Google's top 10 trending athletes in 

the year 2023? 

(1) Virat Kohli (2) Rohit Sharma 

(3) Shubman Gill (4) Mohammed Shami 

 

38. 'भूनम रानश पपटगि' नकस मोंिािय की एक 

पहि है? 

(1) कृनष मोंिािय  

(2) ग्रामीण निकास मोंिािय  

(3) सड़क पररिहि और राजमागग मोंिािय  

(4) सहकाररता मोंिािय 

'Bhoomi Rashi Portal' is an initiative of 

which ministry? 

(1) Ministry of Agriculture 

(2) Ministry of Rural Development 

(3) Ministry of Road Transport and 

Highways 

(4) Ministry of Cooperation 

 

39. कपिकाता िाइट राइडसग िे नकस खििाड़ी 

कप अगिे सीजि के निए अपिा कप्ताि बिाया 

है? 

(1) िीतीश राणा (2) शे्यस अय्यर 

(3) कुिर्दीप यार्दि  (4) आोंदे्र रसेि  

Which player has been appointed by 

Kolkata Knight Riders as their captain for 

the next season? 

(1) Nitish Rana (2) Shreyas Iyer 

(3) Kuldeep Yadav (4) Andre Russell 

 

 

 

40. What is the position of the Earth when 

it is at the greatest distance from the sun?  

(1) Aphelion  (2) Antipode 

(3) Perihelion (4) Aldiatc 

पृथ्वी नजस समय सूयग से सबसे अनिक रू्दरी पर 

हपती हैं उस समय उसकी खस्थनत क्या हपती हैं?  

(1) एिेनियि  (2) एों टीपपड  

(3) पेररहेनियि  (4) एखल्डएट  

 

41. The biogas used for cooking is a 

mixture of which of the following?  

(1) Carbon dioxide and oxygen  

(2) Isobutane and propane  

(3) Methane and carbon monoxide  

(4) Methane and carbon dioxide  

िािा बिािे के निए प्रयुक्त बायपगैस नकसका 

नमश्ण है?  

(1) काबगि डाइ ऑक्साइड एिों ऑक्सीजि  

(2) आइसपबू्यटेि एिों प्रपपेि  

(3) मीथेि एिों काबगि मपिपऑक्साइड  

(4) मीथेि एिों काबगि डाइ ऑक्साइड  

 

42. From the following, who was the first 

women speaker of Lok Sabha?  

(1) Sushma Swaraj  

(2) Margret Alva  

(3) Meera Kumar  

(4) Sarojini Naidu  

निम्ननिखित में से िपकसभा की प्रथम मनहिा 

अध्यक्ष का िाम बताइए?  

(1) सुषमा स्वराज  

(2) मारगे्रट अल्वा  

(3) मीरा कुमार  

(4) सरपनजिी िायडू  

 

43. Which of the following wind is blowing 

from the Mediterranean Sea to the North 

Western parts of India?  

(1) Western disturbances  

(2) Norwesters  

(3) Loo  

(4) Mango showers  

निम्ननिखित में से कौि-सी हिाएँ भूमध्यसागर से 

भारत के उत्र-पनिमी भाग की ओर चिती हैं?  

(1) पनिमी निक्षपभ  

(2) िािेस्टर  

(3) िू 

(4) मैंगप शािर  

 

44. Azolla increases soil fertility for:  

(1) maize cultivation  

(2) wheat cultivation  

(3) barley cultivation  

(4) rice cultivation  

एजपिा ……… के निए मृर्दा उिगरता कप बढ़ाता है।  

(1) मक्का की िेती  

(2) गेहँ की िेती  

(3) जौ की िेती  

(4) चािि की िेती  
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45. Which of the following is not provided 

in the constitution?  

(1) Election Commission  

(2) Finance Commission  

(3) Public Service Commission  

(4) Planning Commission सों 

नििाि में निम्ननिखित में से नकसके बारे में उपबोंि 

िही ों है?  

(1) नििागचि आयपग   (2) नित् आयपग  

(3) िपक सेिा आयपग   (4) यपजिा आयपग  

 

46. What is the popular name of Monolithic 

rock shrines at Mahabalipuram?  

(1) Rathas  (2) Prasadas  

(3) Mathika  (4) Gandhakuti  

महाबिीपुरम खस्थत एकाश्मीय शैि मोंनर्दरप ों का प्रनसद्ध 

िाम क्या है?  

(1) रथ   (2) प्रसार्द  

(3) मनिका  (4) गोंिकुटी  

 

47. What is the name of the device used to 

convert alternating current into direct 

current?  

(1) Ammeter (2) Galvanometer  

(3) Rectifier  (4) Transformer  

प्रत्यािती िारा (AC) कप नर्दष्ट् िारा (DC) में बर्दििे 

के निए नकस युखक्त का प्रयपग नकया जाता है?  

(1) ऐमीटर  (2) गैले्विपमीटर  

(3) रेखििायर  (4) टर ाोंसिॉमगर  

 

48. Why does ice covered in sawdust not 

melt quickly?  

(1) Sawdust does not allow the air to touch 

the ice  

(2) The water is absorbed by sawdust  

(3) Sawdust is a bad conductor of heat  

(4) Sawdust is good conductor of heat  

बुरारे्द से ढकी हुई बिग  जल्दी से क्यपों िही ों 

नपघिती?  

(1) बुरार्दा हिा कप बिग  तक िही ों जािे रे्दता  

(2) बुरार्दा पािी कप सपि िेता है  

(3) बुरार्दा ऊष्मा का कुचािक है  

(4) बुरार्दा ऊष्मा का सुचािक है  

 

49. Which layer of the earth's atmosphere 

contains the ozone layer?  

(1) Troposphere  (2) Mesosphere  

(3) lonosphere  (4) Stratosphere  

पृथ्वी के िायुमोंडि की नकस परत में ओजपि की 

परत हपती है?  

(1) क्षपभमोंडि  (2) मध्य मोंडि  

(3) आयि मोंडि  (4) समताप मोंडि  

 

50. Where is the Great Barrier Reef 

located?  

(1) Pacific Ocean   

(2) Indian Ocean  

(3) Atlantic Ocean    

(4) Arctic Ocean  

गे्रट बैररयर रीि कहाँ खस्थत है?  

(1) प्रशाोंत महासागर     

(2) नहोंर्द महासागर  

(3) अटिाोंनटक महासागर  

(4) आकग नटक महासागर  

 

 

PART – III: QUANTITATIVE APTITUDE 

 

51. The sum of three consecutive natural 

numbers each divisible by 5, is 225. The 

largest among them is:  

5 से निभाज् तीि क्रमागत प्राकृत सोंख्याओों का 

यपग 225 है। उिमें सबसे बड़ी सोंख्या कौि-सी है?  

(1) 85   (2) 75  

(3) 70   (4) 80  

 

52. A can do a piece of work in 18 days. He 

worked at it for 12 days and B finished the 

remaining work in 8 days. B alone can do 

the whole work in:  

A नकसी काम कप 18 नर्दि में कर सकता हैं I उसिे 

12 नर्दि काम नकया और शेष काम B िे 8 नर्दि में 

पूरा नकया B अकेिे पूरे काम कप नकतिे नर्दि में पूरा 

कर सकता था?  

(1) 16 days  (2) 24 days  

(3) 28 days  (4) 29 days  

 

53. The list price of an article is ₹900/-. It 

is available at two successive discounts of 

20% and 10%. The selling price of the 

article is:  

एक िसु्त का अोंनकत मूल्य ₹900/- है। यह 20% 

और 10% की र्दप क्रमागत छूटप ों के साथ नमिती है। 

िसु्त का निक्रय मूल्य है-  

(1) ₹640/-  (2) ₹648/-  

(3) ₹540/-  (4) ₹548/-  

 

54. A man spends a part of his monthly 

income and saves the rest. The ratio of his 

expenditure to the saving is 61 : 6. If his 

monthly income is ₹8,710/-, the amount 

of his monthly savings is:  

एक व्यखक्त अपिी मानसक आय का कुछ भाग िचग 

करता है और बाकी की बचत करता है। उसके व्यय 

और बचत का अिुपात 61 : 6 है। यनर्द उसकी 

मानसक आय ₹8710/- हप, तप उसकी मानसक 

बचत की रानश नकतिी है?  

(1) ₹870/-  (2) ₹690/-  

(3) ₹980/-  (4) ₹780/-  

 

55. An article was sold at ₹ 950/- allowing 

5% discount on the marked price. The 

marked price of the article is:  

एक िसु्त अोंनकत मूल्य पर 5% की छूट रे्दकर 

₹950/- की है। िसु्त का अोंनकत मूल्य क्या है?  

(1) ₹960/-  (2) ₹1,000/- 

(3) ₹955/-  (4) ₹945/-  

 

56. A person loses 75% of his money in the 

first bet, 75% of the remaining in the 

second and 75% of the remaining in the 

third bet and returns home with ₹2/- only. 

His initial money was:  

एक व्यखक्त अपिी 75% रानश पहिी बाजी में, शेष 

की 75% रू्दसरी बाजी में और शेष की 75% तीसरी 

बाजी में हार गया और केिि ₹ 2/- िेकर अपिे 

घर पहँुचा। उसकी प्रारों नभक रानश नकतिी थी ?  

(1) ₹64/-   (2) ₹128/-  

(3) ₹955/-  (4) ₹945/-  

 

57. The time taken by a train 160 m long, 

running at 72 km/hr, in crossing an 

electric pole is:  

72 नकमी/घोंटा की गनत से चििे िािी 160 मी. 

िोंबी टर ेि कप एक निर््दयुत िोंभे कप पार करिे में 

नकतिा समय िगता हैं?  

(1) 8 sec   (2) 9 sec 

(3) 6 sec   (4) 4 sec  

 

58. If 𝒙 +
𝟏

𝟗𝒙
= 𝟒,  then 𝟗𝒙𝟐 +

𝟏

𝟗𝒙²
 is  

यनर्द 𝒙 +
𝟏

𝟗𝒙
= 𝟒 हप, तप 𝟗𝒙𝟐 +

𝟏

𝟗𝒙²
 का माि क्या हैं?  

(1) 140   (2) 142  

(3) 144   (4) 146  

 

59. If 𝒂 = 𝟐, 𝒃 =  −𝟑 then the value of 

𝟐𝟕𝒂𝟑 − 𝟓𝟒𝒂𝟐𝒃 + 𝟑𝟔𝒂𝒃𝟐 − 𝟖𝒃³ is  

यनर्द 𝒂 = 𝟐, 𝒃 =  −𝟑  हप तप 𝟐𝟕𝒂𝟑 − 𝟓𝟒𝒂𝟐𝒃 +

𝟑𝟔𝒂𝒃𝟐 − 𝟖𝒃³ का माि क्या हपगा?  

(1) 1562   (2) 1616  

(3) 1676   (4) 1728 

 

60. The difference between compound 

interest and simple interest on a certain 

sum of money for 2 years at 5% per annum 

is  

नकसी रानश पर 5% प्रनत िषग पर 2 िषग के चक्रिृखद्ध 

ब्याज और सािारण ब्याज के बीच अोंतर ₹41 है, 

तप रानश नकतिी हैं?  

(1) ₹ 7200/-  (2) ₹ 9600/-  

(3) ₹ 16,400/-  (4) ₹ 8400/-  

 

61. A man standing on the bank of river 

observes that the angle subtended by a 

tree on the opposite bank is 60°. When he 

retires 36 m from the Bank, he finds that 

the angle is 30°. The breadth of the river 

is:  

एक िर्दी के नकिारे िड़ा व्यखक्त रे्दिता हैं नक िर्दी 

पार नकिारे पर िगे िृक्ष द्वारा अोंतररत कपण 60° हैं 

जब िह नकिारे से 36 मी पीछे आता हैं तप िह 

रे्दिता हैं नक कपण 30° हैं I िर्दी की चौड़ाई नकतिी 

हैं?  

(1) 15 m   (2) 18 m  

(3) 16 m   (4) 11 m   

 

62. The LCM of 32 and 40 equals to 9 less 

than the square of X. Find the positive 

value of X.  

32 और 40 का िघुत्म समापित्यग X के िगग से 9 

कम के बराबर हैं I X का ििात्मक माि ज्ञात करें ?  

(1) 13   (2) 11  

(3) 14   (4) 12  
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63. Four prime numbers are arranged in 

ascending order. The product of the first 

three numbers is 255 and that of the last 

three is 1955. The largest prime number is  

चार अभाज् सोंख्याएों  आरपही क्रम में व्यिखस्थत हैं 

I पहिी तीि सोंख्याओों का गुणििि 255 हैं और 

अोंनतम तीि का गुणििि 1955 हैं I सबसे बड़ी 

अभाज् सोंख्या हैं?  

(1) 17   (2) 23  

(3) 29   (4) 31  

 

64. 37 is what percentage of 55? (correct 

up to two decimal places)  

37, 55 का नकतिा प्रनतशत हैं? (र्दशमिि के र्दप 

स्थािप ों तक सही)  

(1) 69.41%  (2) 64.91%  

(3) 67.27%  (4) 62.77%  

 

65. The current population of a city is 

125000. If the population grows at the 

rate of 2% per year, what will be the 

population of the city after 3 years? 

एक शहर की ितगमाि जिसोंख्या 125000 हैं I यनर्द 

जिसोंख्या 2% प्रनत िषग की र्दर से बढ़ती हैं, तप 3 

िषग बार्द शहर की जिसोंख्या क्या हपगी?  

(1) 132165  (2) 133512  

(3) 132651  (4) 130896  

 

66. The population of a town increased 

from 145000 to 200000 in a decade. What 

will be the simple growth rate percent of 

population per annum?  

एक र्दशक में एक कसे्ब की जिसोंख्या 145000 से 

बढ़कर 200000 हप गई I प्रनत िषग जिसोंख्या की 

सािारण िृखद्ध र्दर प्रनतशत क्या हपगी?  

(1) 4.856 percent  (2) 2.165 percent  

(3) 3.793 percent   (4) 5.789 percent  

 

67. The marked price of a washing 

machine is Rs. 23,500 and the shopkeeper 

sold it for Rs. 20,915. What is the 

percentage of discount offered by the 

shopkeeper?  

एक िानशोंग मशीि का अोंनकत मूल्य 23,500 रु. हैं 

और रु्दकािर्दार िे इसे 20,915 रु. में बेचा 

रु्दकािर्दार द्वारा र्दी जािे िािी छूट का प्रनतशत 

नकतिा हैं?  

(1) 11%   (2) 12%  

(3) 9%   (4) 10%  

 

68. A dealer professes to sell his goods at 

a loss of 16%, but weights 750 gm in place 

of a kg weight. Find his total profit 

percentage.  

एक डीिर अपिे माि कप 16% की हानि पर बेचिे 

का र्दािा करता हैं, िेनकि िह kg िजि के स्थाि 

पर 750 gm ही िजि करता हैं I उसका कुि िाभ 

प्रनतशत ज्ञात कीनजए?  

(1) 12 Percent  (2) 14 Percent  

(3) 15 Percent  (4) 11 Percent 

 

69. A man buys a toy car for Rs. 135 and 

sells it for Rs. 150, find his gain 

percentage.  

एक आर्दमी 135 रूपये में एक खििौिा कार 

िरीर्दता हैं और उसे 150 रूपये में बेचता हैं, 

उसका िाभ प्रनतशत ज्ञात कीनजए?  

(1) 11.11%  (2) 10%  

(3) 11%   (4) 10.10% 

 

70. A seller earns a profit of 5% by giving 

a discount of 10% on the marked price. If 

the marked price is increased by 5% and 

two successive discounts of 5% each are 

given, then what is the percentage profit 

the seller makes? 

अोंनकत मूल्य पर 10% की छूट रे्दिे पर एक निके्रता 

5% का िाभ अनजगत करता हैं I यनर्द अोंनकत मूल्य 

में 5% की िृखद्ध की जाती हैं और प्रते्यक 5% की र्दप 

क्रनमक छूटें र्दी जाती हैं, तप निके्रता कप नकतिे 

प्रनतशत िाभ हपता हैं?  

(1) 11.5%  (2) 11%  

(3) 10.5%  (4) 10%  

 

71. A sum of Rs. 1875 at 4% per annum 

increased to Rs. 2028 in certain time. If 

interest is compounded yearly, then what 

is the time period?  

1875 रु. की रानश 4% की िानषगक र्दर से एक 

निनित समय में बढ़कर 2028 रु. हप गई I यनर्द 

ब्याज िानषगक रूप से चक्रिृखद्ध हैं, तप समयािनि 

क्या हपगी?  

(1) 2.5 years  (2) 3.5 years  

(3) 3 years  (d) 2 years 

 

Directions (72-75): Study the bar-graph 

given below which shows the percent 

distribution of total expenditure of a 

company under various expense and 

answer the questions.  

निरे्दश (72-75) : िीचे नर्दए गए बार ग्राि का 

अध्ययि कीनजए जप नकसी कों पिी द्वारा निनभन्न 

मोंर्दप ों पर नकए गए कुि िचग के प्रनतशत नितरण कप 

र्दशागता हैं I  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

72. The expenditures on the interest on 

loans is more than the expenditure on 

transport by:  

ऋण के ब्याज पर नकया गया िचग, पररिहि पर 

नकए गए िचग से नकतिा अनिक हैं?  

(1) 5%   (2) 10%  

(3) 40%    (4) 30%  

 

73. If the interest on loans amounted to ₹ 

2.45 crores, then the total amount of 

expenditure on advertisement, taxes and 

research and evelopment is:  

यनर्द ऋण ब्याज ₹ 2.45 करपड़ हैं, तप प्रचार, टैक्स 

और ररसचग एों ड डििपमेंट पर कुि नकतिा िचग 

हुआ?   

(1) ₹ 7 crores/करपड़     

(2) ₹ 4.2 crores/ करपड़    

(3) ₹ 5.4 crores/ करपड़     

(4) ₹ 3 crores/करपड़  

 

74. The ratio of the total expenditure on 

infrastructure and transport to the total 

expenditure on taxes and interest on loans 

is:  

इन्फ्रास्टरक्चर और पररिहि पर कुि िचग तथा 

टैक्स और ऋण के ब्याज पर कुि िचग का अिुपात 

क्या हैं?  

(1) 5 : 4   (2) 8 : 7  

(3) 9 : 7   (4) 13 : 11  

 

75. If the total expenditure of the 

company is ₹ 20 crores, then the ratio of 

expenditure on transport to that on salary 

is:  

यनर्द कों पिी का कुि िचग रु 20 करपड़ हैं, तप िाहि 

और िेति पर िचग का अिुपात क्या हैं?  

(1) 5 : 4   (2) 4 : 5  

(3) 5 : 8   (4) 8 : 5 

 

PART – IV : ENGLISH COMPREHENSION  

 

76. In the following question, out of the 

four alternatives, choose the word which 

best expresses the meaning of the given 

word and mark corresponding to it.  

ENIGMA  

(1) ATTRACTIVE  (2) RIDDLE  

(3) FLARE-UP  (4) DREAM  

 

77. In the following question, out of the 

four alternatives, choose the word which 

is opposite in meaning to the given word 

and mark corresponding to it.  

INERTIA  

(1) STUPOR  (2) VIGOUR 

(3) LANG  (4) INERTNESS  
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78. Four words are given, out of which 

only one word is spelt correctly. Choose 

the correctly spelt word and mark 

corresponding to it.  

(1) Pious   (2) Pios  

(3) Pieos   (4) Piuos  

 

Directions (79-81): In the following 

questions, one part of the sentence may 

have an error. Find out which part of the 

sentence has an error and mark 

corresponding to it. If the sentence is free 

from error, mark "No error" option.  

 

79. Each child (1)/ was given a (2)/ red 

beautiful balloon. (3)/ No error (4) 

 

80. She has had the best medical facilities 

available (1)/ but she will not be cured (2)/ 

unless she does not have a strong desire to 

live. (3)/ No error (4)  

 

81. As if aware of my condition (1)/ the 

infuriated bird. suddenly doubled back on 

its course (2)/ and charged straight after 

me. (3)/ No error (4)  

 

Directions (82-84): The sentences given 

with blanks are to be filled with an 

appropriate word(s). Four alternatives are 

suggested for each question. For each 

question, choose the correct alternative.  

 

82. The passengers were afraid but the 

captain ………................ them that there 

was no danger.  

(1) suggested  (2) pleaded  

(3) advise  (4) assured  

 

83. I Insisted ................... his leaving the 

place.  

(1) On   (2) About  

(3) In   (4) With  

84. Please don’t ………….…… me when I’m 

speaking.  

(1) Interrupted  (2) Interrupts  

(3) interrupt  (4) interrupting  

 

Directions (85-87): In each of the 

questions, four alternatives are given for 

the idiom/Phrase. Choose the alternative 

which best expresses the meaning fo the 

Idiom/Phrase.  

 

85. Beat around the bush  

(1) Walk around the forest  

(2) Clean the bushy areas  

(3) Avoiding the main topic  

(4) Play around the forest  

 

 

86. Make room  

(1) Clean the room  

(2) Make space  

(3) Attain the room  

(4) Make a clean sweep  

 

87. Mend your ways  

(1) Happy with one’s behaviour  

(2) Sad with one’s behaviour  

(3) Destroy one’s behaviour  

(4) Improve one’s behaviour  

 

Directions (88-90): In these questions, out 

of the four alternatives, choose the one 

which can be substituted for the given 

words/sentences and mark corresponding 

to it.  

 

88. A record of one's own life written by 

oneself  

(1) History  (2) Biography  

(3) Bibliography  (4) Autobiography  

 

89. Belong to the same period  

(1) Comrades   (2) Contemporaries  

(3) compromises   (4) Renegades  

 

90. One who listens secretly to private 

conversation  

(1) Eavesdropper    (2) Encroacher  

(3) Eaves bearer      (4) Listener  

 

Directions (91-95): In these questions, a 

sentence/a part of the sentence is bold. 

Four alternatives are given to the bold 

part which will improve the sentence. 

Choose the correct alternative. In case no 

improvement is needed, mark 

corresponding to "No improvement".  

 

91. You must complete this work up to 

Sunday.  

(1) within Sunday  (2) by Sunday  

(3) on to Sunday    (4) No improvement  

 

92. Hole wheat bread is good for health.  

(1) Whole  (2) Healthy  

(3) Holed  (4) No improvement  

 

93. She has no pen to write.  

(1) write with  (2) write at  

(3) write in  (4) No improvement  

 

94. He dislikes the word, isn’t he?  

(1) doesn’t he  

(2) didn’t he?  

(3) does he?  

(4) No improvement  

 

 

95. He is one of those who likes to help 

others.  

(1) those persons who like to help others  

(2) those who like to help the other  

(3) those who like to help others  

(4) No improvement  

 

Directions (96-100): A passage is given 

with five questions following it. Read the 

passage carefully and choose the best 

answer to each question out of the four 

alternatives and mark corresponding to 

it.  

Crude mineral oil comes out of the earth 

as a thick brown or black liquid with a 

strong smell. It is a complex mixture of 

many different substances, each with its 

own individual qualities. Most of them are 

combinations of hydrogen and carbon in 

varying proportions. Such hydrocarbons 

are also found in other forms such as 

bitumen, asphalt and natural gas. Mineral 

oil originates Www from the carcasses of 

tiny animals and from plants that live in 

the sea. Over million of years, these dead 

creatures form large deposits under sea-

bed and ocean currents cover them with a 

blanket of sand and silt. As this material 

hardens, it becomes sedimentary rock and 

effectively shuts out the oxygen, thus 

preventing the complete decomposition 

of the marine deposit’s underneath. The 

layers of sedimentary rocks become 

thicker, and heavier.  

Their pressure produces heat, which 

transforms the tiny carcasses into crude oil 

in a process that is still going on today.  

 

96. How does crude oil come out of the 

earth?  

(1) Thick brown or black liquid with mild 

smell  

(2) Thick red brown liquid with strong 

smell  

(3) Mixture of different colours  

(4) Thick brown or black liquid with a 

strong smell  

 

97. What is crude mineral oil?  

(1) Complex mixture of many different 

substances  

(2) Simple mixture of natural gas  

(3) Plain white oil  

(4) It is bitumen  

 

98. From where does mineral oil 

originate?  

(1) Complex mixture of substances  

(2) Carcasses of tiny animals and plants 

that live in the sea  

(3) From lakes  

(4) Only from plants  
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99. The time taken for the marine deposits 

to harden into rocks is:  

(1) A few centuries  (2) millions of years  

(3) A few decades      (4) thousands of years 

 

100. Sedimentary rocks leads to the 

formation of oil deposits of because: 

(1) their pressure produces heat and 

turns deposits of animal carcasses and 

plants into oil.  

(2) It turns heavy and shuts out the 

oxygen  

(3) It becomes hard and forms into rocks 

to sqeeze oil  

(4) It becomes light and soft and applies 

pressure to produce oil   

 

भाग घ नहन्दी भाषा 

 

76. ‘मीि’ का पयागयिाची शब्द हैं?  

(a) माध्यम  (b) बीच में  

(c) मछिी   (d) नििागण  

 

77. ‘बुनढ़याँ’ में प्रयुक्त प्रत्यय हैं  

(a) या   (b) इया  

(c) ईया   (d) नढ़या 

 

78. ‘घी के नर्दए जिािा’ मुहािरे का अथग हैं?  

(a) र्दीपाििी के नर्दि पूजा करिा  

(b) िि नमििा  

(c) िुशी मिािा  

(d) निनित हपकर सपिा  

 

79. निम्ननिखित में शुद्ध  िाक्य हैं?  

(a) भक्तपों की सेिा जा रही थी  

(b) भक्तपों की मण्डिी जा रही थी  

(c) भक्तपों की टुकड़ी जा रही थी  

(d) भक्तपों की भीड़ जा रही थी  

 

80. यानियप ों के समूह कप कहते हैं  

(a) नगरपह   (b) झुण्ड  

(c) कारिाँ   (d) कतार  

 

81. व्योंजि नकतिे प्रकार के हपते हैं?  

(a) 3   (b) 6  

(c) 7   (d) 8  

 

82. ‘सोंकर’ का पयागयिाची शब्द हैं?  

(a) नशि   (b) इन्द्र  

(c) िारर्द   (d) र्दपगिा 

 

83. ‘निरह’ का नििपमाथगक शब्द हैं  

(a) नियपग   (b) नमिि  

(c) छूटिा   (d) टूटिा 

 

84. ‘िैरे्दही िििास’ पुस्तक के िेिक कौि हैं?  

(a) नबहारी  

(b) भारतेन्फ्रु्द हररिन्द्र   

(c) मैनथिीशरण गुप्त  

(d) अयपध्यानसोंह ‘हररऔि’  

 

85. अत्याचार करिे िािा  

(a) रु्दष्ट्   (b) िूतग  

(c) शपषक   (d) आततायी   

 

 

86. ‘भरपेट’ का उपसगग हैं  

(a) भ   (b) भर्  

(c) भरप्    (d) भर  

 

87. ‘िकुराइि’ का प्रत्यय हैं 

(a) इि   (b) आइि  

(c) ि   (d) नि   

 

88. ‘रु्दगग’ का सोंनि निचे्छर्द हैं  

(a) रु्द + गग   (b) रु्द: + ग  

(c) रु्दर + उग्   (d) रु्द+ रग  

 

निरे्दश (प्र.सों. 89-92) िीचे नर्दए गए गद्ाोंश कप 

साििािीपूिगक पढ़कर नर्दए गए प्रश्नप ों का उत्र र्दें। 

  

िपकनप्रयता कप भेनड़यािसाि कहा जाता है। इसके 

पीछे व्यखक्त पागि हप जाता है। िह भूि जाता है 

नक जिता व्यखक्त कप भुिा रे्दिे में र्दप नर्दि का समय 

भी िही ों िेती। इतिा हपिे पर भी यनर्द आपसे कपई 

कहे नक केिि एक िरर्दाि माँग िप, तप आप 

तत्काि कहेंगे नक मैं िपकनप्रय हपकर यश का भागी 

बििा चाहता हँ। िपकनप्रय हपिे का अथग हपता है-

अनिक से अनिक व्यखक्तयपों की प्रशोंसा का पाि 

हपिा परनु्त िपकनप्रयता के अपिे र्दपष भी हैं। 

िपकनप्रय व्यखक्त जिता और समाज का व्यखक्त बि 

जाता है पर िह अपिा बहुत काम िही ों कर पाता 

है।  

 

89. अितरण का शीषगक छाँनटए  

(a) जीिि की सबसे बड़ी आकाोंशा  

(b) मािि की सििता  

(c) िपकनप्रयता  

(d) यशपनिप्सा  

 

90. िेिक के मतािुसार व्यखक्त की सबसे प्रबि 

इच्छा हपती है?  

(a) िििाि हपिा  

(b) िपकनप्रय हपिा  

(c) प्रनतभा सम्पन्न हपिा  

(d) प्रशोंसा का पाि हपिा  

 

91. िपकनप्रयता  

(a) व्यखक्त कप प्रशोंसा का पाि बिा रे्दती है  

(b) व्यखक्त कप जिनप्रय बिा रे्दती है  

(c) समाज की सेिा द्वारा प्राप्त की जाती है  

(d) व्यखक्त कप यशस्वी बिा रे्दती है  

 

92. िपकनप्रयता का सबसे बड़ा र्दपष यह है नक  

(a) िह व्यखक्त कप समाज और जिता की िसु्त बिा 

रे्दती है  

(b) िह व्यखक्त कप नकसी काम का िही ों रहिे रे्दती है  

(c) िह व्यखक्त कप अपिा काम िही ों करिे रे्दती है  

(d) िह भेड़ चाि की भाँनत एकर्दम अस्थायी हपती है  

 

 

 

93. िीचे नर्दए गए शब्द का सही अथग चुनिए ।  

नििपिी  

(a) पररहास  (b) िाराजगी  

(c) िगी   (d) िेि  

 

94. ‘आगे …………........ पीछे िाई ‘मुहािरे के 

ररक्त स्थाि पर सही शब्द हपगा?  

(a) झरिा   (b) पहाड़  

(c) कुआों   (d) िर्दी 

 

95. िीचे नर्दए गए शब्द का अथग चुनिए?  

उपेक्षा  

(a) उत्कों िा  (b) आशा  

(c) ऊँची आशा  (d) नतरस्कार  

 

96. िीचे नर्दए गए शब्दपों में से बेमेि शब्द कप चुनिए?  

(a) ससुर   (b) सहपर्दर  

(c) सािा   (d) सिा 

 

निरे्दश (प्रश्न. सोंख्या 97-98) निम्ननिखित शब्दपों के 

आगे चार-चार शब्द नर्दए गए हैं I इिमें से उनचत 

समािाथगक पयागय चुिकर नचनित करें  I  

 

97. रू्दि  

(a) िीर   (b) पेय  

(c) िििीत  (d) स्तन्य  

 

98. हाथ  

(a) पानण   (b) अग्राोंग  

(c) मकर   (d) अोंगुनिमाि  

 

99. निम्ननिखित में से कौि-सा शब्द स्त्रीनिोंग  

िही ों हैं?  

(a) किम   (b) नकताब  

(c) पुस्तक   (d) पुस्तकािय 

 

100. प्रकाश की नकरणप ों के समूह कप क्या  

कहते हैं?  

(a) अनि    (b) ज्पनत  

(c) ज्वािा   (d) पुोंज  
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